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T RE n 1 2 3 4 5 FME
WEE (FESE) 9. 389 9. 399 9. 340 9.372 9. 369
T IREL n 6 7 8 9 10 9.3716

WEE (FESE) 9. 367 9. 398 9.376 9. 347 9. 359
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u=s/fn =0.0199/+2=0.014  ( mg/L)

2. HAAREEOGT R EFE u, R B RVPE ik

B % B SEPR A R Z e B (mg/L) % 2: 0.13%, HJ 1mg/Lx0.13%=0.0013mg/L,

M. AR 1g/L (1000mg/L) i Ki%Z A 1000mg/Lx0.0013mg/L=1.3mg/L, J& %1%
i, B k=3

w,=1.3/+/3=0.751  ( mg/L)
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EE I ES NFIAHEE /& A ES 1 u, 0.014
Vil A EIDNIE N Vs B #5151 V3 u, 0. 751

u, = oJu? +ud = V0.014° +0.751 =0. 751
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U= kku=0.751%2=1.502mg/L (k=2)
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